



FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

B.S (Computer Science) 8th Semester, Section C, Morning, Session Autumn 2025

Registration #	Name	AIE506					CSC 402					CSC 503					CSC.305					CSC201					CSC-305							
		Machine Learning					Information Security					Artificial Intelligence					Introduction to Software Engineering					Computer Organization & Assembly Language					Discrete Structures							
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product			
B.S CS Aut-21-Eve-0158	Fatima Zia	60	C	2.0	3	6.0	80	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	74	B	3.0	3	9.0
B.S CS Aut-21-Eve-0183	Syed Aoun Ali Haider	50	D	1.5	3	4.5	80	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
B.S CS Aut-21-M-A-0002	Abdur Rahman	75	B+	3.5	3	10.5	65	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-			
B.S CS SP-2022-E-A-0199	Saad Munir	55	C	2.0	3	6.0	80	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-			
B.S CS SP-2022-M-A-0053	Umar Khayam	50	D	1.5	3	4.5	80	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-			
B.S CS SP-2022-M-C-0121	Abdul Rafay Zaheer	60	C	2.0	3	6.0	75	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-			
B.S CS SP-2022-M-C-0124	Altaf Hussain	50	D	1.5	3	4.5	85	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	62	C	2.0	4	8.0	55	C	2.0	3	6.0			
B.S CS SP-2022-M-C-0125	Aneeda Gul	65	C+	2.5	3	7.5	95	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-			
B.S CS SP-2022-M-C-0126	Anwar Saeed Qarni	70	B	3.0	3	9.0	80	A	4.0	3	12.0	74	B	3.0	4	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
B.S CS SP-2022-M-C-0127	Aqdas Ali	90	A	4.0	3	12.0	80	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-			
B.S CS SP-2022-M-C-0129	Bisma Ali	75	B+	3.5	3	10.5	88	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-			
B.S CS SP-2022-M-C-0130	Eman Amal	77	B+	3.5	3	10.5	85	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-			
B.S CS SP-2022-M-C-0131	Furqan Haider	60	C	2.0	3	6.0	80	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-			
B.S CS SP-2022-M-C-0132	Hamza Gulshad	60	C	2.0	3	6.0	70	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-			
B.S CS SP-2022-M-C-0134	Hassan Manzoor	25	F	-	3	-	80	A	4.0	3	12.0	-	-	-	-	-	-	50	F	-	3	-	-	-	-	-	-	-	-	-	-	-		
B.S CS SP-2022-M-C-0135	Huma Gul	75	B+	3.5	3	10.5	92	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
B.S CS SP-2022-M-C-0136	Irfan Ali	70	B	3.0	3	9.0	89	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
B.S CS SP-2022-M-C-0137	Laiba Shoukat	65	C+	2.5	3	7.5	85	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
B.S CS SP-2022-M-C-0138	Lakhat E Hasnain	70	B	3.0	3	9.0	80	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
B.S CS SP-2022-M-C-0140	Mirza Ahtisham Baig	65	C+	2.5	3	7.5	85	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
B.S CS SP-2022-M-C-0142	Muhammad Balaj Khan	55	C	2.0	3	6.0	75	B+	3.5	3	10.5	-	-	-	-	-	-	55	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-		
B.S CS SP-2022-M-C-0143	Muhammad Abdullah	60	C	2.0	3	6.0	80	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
B.S CS SP-2022-M-C-0146	Muhammad Muneeb Arshad	65	C+	2.5	3	7.5	80	A	4.0	3	12.0	67	C+	2.5	4	10.0	-	-	-	-	-	74	B	3.0	4	12.0	-	-	-	-	-	-		
B.S CS SP-2022-M-C-0147	Muhammad Riaz	80	A	4.0	3	12.0	85	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
B.S CS SP-2022-M-C-0152	Muhammad Waqas	83	A	4.0	3	12.0	86	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
B.S CS SP-2022-M-C-0154	Musharraf Ali	60	C	2.0	3	6.0	83	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
B.S CS SP-2022-M-C-0155	Rabail Shakoor	65	C+	2.5	3	7.5	87	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
B.S CS SP-2022-M-C-0156	Sayyed Hamza Khalil Gardazi	29	F	-	3	-	75	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
B.S CS SP-2022-M-C-0163	Ukasha Saleem	70	B	3.0	3	9.0	86	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		

Errors and omissions excepted. University has right to revise the results.

Prepared By: _____

Checked By: _____

Rechecked By: _____

Superintendent

Asst. Controller of Exams

Ghayyas ud Din
Controller of Exams

Result declaration date: 23/02/2026



FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

B.S (Computer Science) 8th Semester, Section C, Morning, Session Autumn 2025

		CSC505					HUM.302					MTH401					PRJ602					SSC303					SSE 611				
		Numerical and Symbolic Computing					Professional Practices					Differential Equations					Final Year Project (Phase-II)					Operating Systems					Data Science				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
B.S CS Aut-21-Eve-0158	Fatima Zia	-	-	-	-	75	B+	3.5	3	10.5	-	-	-	-	92	A	4.0	3	12.0	74	B	3.0	4	12.0	-	-	-	-			
B.S CS Aut-21-Eve-0183	Syed Aoun Ali Haider	-	-	-	-	80	A	4.0	3	12.0	-	-	-	-	85	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-		
B.S CS Aut-21-M-A-0002	Abdur Rahman	62	C	2.0	3	6.0	50	D	1.5	3	4.5	-	-	-	-	66	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	-		
B.S CS SP-2022-E-A-0199	Saad Munir	-	-	-	-	60	C	2.0	3	6.0	-	-	-	-	88	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-		
B.S CS SP-2022-M-A-0053	Umar Khayam	-	-	-	-	75	B+	3.5	3	10.5	-	-	-	-	83	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-		
B.S CS SP-2022-M-C-0121	Abdul Rafay Zaheer	-	-	-	-	56	C	2.0	3	6.0	-	-	-	-	72	B	3.0	3	9.0	-	-	-	-	50	D	1.5	3	4.5			
B.S CS SP-2022-M-C-0124	Altaf Hussain	-	-	-	-	80	A	4.0	3	12.0	-	-	-	-	85	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-		
B.S CS SP-2022-M-C-0125	Aneeda Gul	-	-	-	-	83	A	4.0	3	12.0	-	-	-	-	80	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-		
B.S CS SP-2022-M-C-0126	Anwar Saeed Qarni	-	-	-	-	81	A	4.0	3	12.0	-	-	-	-	86	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-		
B.S CS SP-2022-M-C-0127	Aqdas Ali	-	-	-	-	70	B	3.0	3	9.0	-	-	-	-	75	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	-		
B.S CS SP-2022-M-C-0129	Bisma Ali	-	-	-	-	90	A	4.0	3	12.0	-	-	-	-	80	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-		
B.S CS SP-2022-M-C-0130	Eman Amal	65	C+	2.5	3	7.5	87	A	4.0	3	12.0	-	-	-	-	82	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-		
B.S CS SP-2022-M-C-0131	Furqan Haider	74	B	3.0	3	9.0	70	B	3.0	3	9.0	-	-	-	-	86	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-		
B.S CS SP-2022-M-C-0132	Hamza Gulshad	72	B	3.0	3	9.0	70	B	3.0	3	9.0	50	D	1.5	3	4.5	76	B+	3.5	3	10.5	-	-	-	-	-	-	-	-		
B.S CS SP-2022-M-C-0134	Hassan Manzoor	-	-	-	-	58	C	2.0	3	6.0	-	-	-	-	70	B	3.0	3	9.0	71	B	3.0	4	12.0	-	-	-	-	-		
B.S CS SP-2022-M-C-0135	Huma Gul	-	-	-	-	90	A	4.0	3	12.0	-	-	-	-	75	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	-		
B.S CS SP-2022-M-C-0136	Irfan Ali	-	-	-	-	80	A	4.0	3	12.0	-	-	-	-	75	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	-		
B.S CS SP-2022-M-C-0137	Laiba Shoukat	-	-	-	-	83	A	4.0	3	12.0	-	-	-	-	75	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	-		
B.S CS SP-2022-M-C-0138	Lakhat E Hasnain	-	-	-	-	75	B+	3.5	3	10.5	-	-	-	-	94	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-		
B.S CS SP-2022-M-C-0140	Mirza Ahtisham Baig	-	-	-	-	81	A	4.0	3	12.0	-	-	-	-	85	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-		
B.S CS SP-2022-M-C-0142	Muhammad Balaj Khan	-	-	-	-	50	D	1.5	3	4.5	-	-	-	-	65	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	-	-		
B.S CS SP-2022-M-C-0143	Muhammad Abdullah	-	-	-	-	59	C	2.0	3	6.0	-	-	-	-	66	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	-	-		
B.S CS SP-2022-M-C-0146	Muhammad Muneeb Arshad	-	-	-	-	52	D	1.5	3	4.5	-	-	-	-	82	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-		
B.S CS SP-2022-M-C-0147	Muhammad Riaz	-	-	-	-	84	A	4.0	3	12.0	-	-	-	-	89	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-		
B.S CS SP-2022-M-C-0152	Muhammad Waqas	-	-	-	-	70	B	3.0	3	9.0	-	-	-	-	81	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-		
B.S CS SP-2022-M-C-0154	Musharraf Ali	-	-	-	-	75	B+	3.5	3	10.5	-	-	-	-	86	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-		
B.S CS SP-2022-M-C-0155	Rabail Shakoor	-	-	-	-	91	A	4.0	3	12.0	-	-	-	-	84	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-		
B.S CS SP-2022-M-C-0156	Sayyed Hamza Khalil Gardazi	-	-	-	-	65	C+	2.5	3	7.5	-	-	-	-	70	B	3.0	3	9.0	58	C	2.0	4	8.0	-	-	-	-	-		
B.S CS SP-2022-M-C-0163	Ukasha Saleem	-	-	-	-	75	B+	3.5	3	10.5	-	-	-	-	82	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-		

Errors and omissions excepted. University has right to revise the results.

Prepared By: _____

Checked By: _____

Rechecked By: _____

Superintendent

Asst. Controller of Exams

Ghayyas ud Din
Controller of Exams

Result declaration date: 23/02/2026



FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

B.S (Computer Science) 8th Semester, Section C, Morning, Session Autumn 2025

		SSE606					
		Advanced Programming					
		Obtained	Grade	GP	Credits	Product	
B.S CS Aut-21-Eve-0158	Fatima Zia	-	-	-	-	-	
B.S CS Aut-21-Eve-0183	Syed Aoun Ali Haider	-	-	-	-	-	
B.S CS Aut-21-M-A-0002	Abdur Rahman	-	-	-	-	-	
B.S CS SP-2022-E-A-0199	Saad Munir	-	-	-	-	-	
B.S CS SP-2022-M-A-0053	Umar Khayam	-	-	-	-	-	
B.S CS SP-2022-M-C-0121	Abdul Rafay Zaheer	-	-	-	-	-	
B.S CS SP-2022-M-C-0124	Altaf Hussain	71	B	3.0	3	9.0	
B.S CS SP-2022-M-C-0125	Aneeda Gul	-	-	-	-	-	
B.S CS SP-2022-M-C-0126	Anwar Saeed Qarni	-	-	-	-	-	
B.S CS SP-2022-M-C-0127	Aqdas Ali	-	-	-	-	-	
B.S CS SP-2022-M-C-0129	Bisma Ali	-	-	-	-	-	
B.S CS SP-2022-M-C-0130	Eman Amal	-	-	-	-	-	
B.S CS SP-2022-M-C-0131	Furqan Haider	70	B	3.0	3	9.0	
B.S CS SP-2022-M-C-0132	Hamza Gulshad	-	-	-	-	-	
B.S CS SP-2022-M-C-0134	Hassan Manzoor	-	-	-	-	-	
B.S CS SP-2022-M-C-0135	Huma Gul	-	-	-	-	-	
B.S CS SP-2022-M-C-0136	Irfan Ali	-	-	-	-	-	
B.S CS SP-2022-M-C-0137	Laiba Shoukat	-	-	-	-	-	
B.S CS SP-2022-M-C-0138	Lakhat E Hasnain	-	-	-	-	-	
B.S CS SP-2022-M-C-0140	Mirza Ahtisham Baig	-	-	-	-	-	
B.S CS SP-2022-M-C-0142	Muhammad Balaj Khan	70	B	3.0	3	9.0	
B.S CS SP-2022-M-C-0143	Muhammad Abdullah	-	-	-	-	-	
B.S CS SP-2022-M-C-0146	Muhammad Muneeb Arshad	-	-	-	-	-	
B.S CS SP-2022-M-C-0147	Muhammad Riaz	-	-	-	-	-	
B.S CS SP-2022-M-C-0152	Muhammad Waqas	-	-	-	-	-	
B.S CS SP-2022-M-C-0154	Musharraf Ali	-	-	-	-	-	
B.S CS SP-2022-M-C-0155	Rabail Shakoor	-	-	-	-	-	
B.S CS SP-2022-M-C-0156	Sayyed Hamza Khalil Gardazi	-	-	-	-	-	
B.S CS SP-2022-M-C-0163	Ukasha Saleem	-	-	-	-	-	

Errors and omissions excepted. University has right to revise the results.

Prepared By: _____

Checked By: _____

Rechecked By: _____

Superintendent

Asst. Controller of Exams

Ghayyas ud Din
Controller of Exams

Result declaration date: 23/02/2026



FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

B.S (Computer Science) 8th Semester, Section C, Morning, Session Autumn 2025

Registration #	Name	AIE506					CSC 402					CSC 503					CSC.305					CSC201					CSC-305				
		Machine Learning					Information Security					Artificial Intelligence					Introduction to Software Engineering					Computer Organization & Assembly Language					Discrete Structures				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
B.S CS SP-2022-M-C-0164	Ulfat Inayat	65	C+	2.5	3	7.5	90	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
B.S CS SP-2022-M-C-0165	Wajeaha Zaheer	55	C	2.0	3	6.0	80	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
B.S CS SP-2022-M-C-0167	Zafran Gul	55	C	2.0	3	6.0	82	A	4.0	3	12.0	74	B	3.0	4	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-		

CC: 1. Incharge Islamabad Campus, 2. Controller of Exams, Karachi, 3. HOD, 4. Accounts Section, 5. Office File, 6. Notice Board

Errors and omissions excepted. University has right to revise the results.

Prepared By: _____

Checked By: _____

Rechecked By: _____

Superintendent

Asst. Controller of Exams

Ghayyas ud Din
Controller of Exams

Result declaration date: 23/02/2026



FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD
B.S (Computer Science) 8th Semester, Section C, Morning, Session Autumn 2025

		CSC505					HUM.302					MTH401					PRJ602					SSC303					SSE 611				
		Numerical and Symbolic Computing					Professional Practices					Differential Equations					Final Year Project (Phase-II)					Operating Systems					Data Science				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
B.S CS SP-2022-M-C-0164	Ulfat Inayat	-	-	-	-	-	90	A	4.0	3	12.0	-	-	-	-	-	80	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	
B.S CS SP-2022-M-C-0165	Wajeeha Zaheer	-	-	-	-	-	81	A	4.0	3	12.0	-	-	-	-	-	82	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	
B.S CS SP-2022-M-C-0167	Zafran Gul	-	-	-	-	-	60	C	2.0	3	6.0	-	-	-	-	-	66	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	-	

Errors and omissions excepted. University has right to revise the results.

Prepared By: _____

Checked By: _____

Rechecked By: _____

Superintendent

Asst. Controller of Exams

Ghayyas ud Din
Controller of Exams

Result declaration date: 23/02/2026